
 VW-1002-a-23-2-o 4 / 10 lees verder ►►►

Tekst 5  Beachfront housing for $215 per month? Only if you’re 
      a state worker 

 
Twee van de onderstaande vijf zinnen (a, b, c, d en e) zijn uit de brieven 
weggelaten (zie 11-1 en 11-2). 

2p 11 Geef voor elke brief aan welke zin daar hoort. 
Noteer de letter van de zin achter het nummer op het antwoordblad. 
Let op: er blijven drie zinnen over. 
a Do you think the people who work at auto parts stores pay the same 

price for equipment that you do? 
b Places of outstanding beauty are often spoilt by architectural eyesores 

built for rich people with poor taste. 
c This may also explain why I have been unable to get a reservation on 

a cottage at Crystal Cove State Park this past decade. 
d What I would like to know is why the government has deliberately 

released news of these shady practices to the public. 
e Why does The Times ignore the fact that it costs public money to 

maintain rental housing? 
 
 

Tekst 6  A new book spells out the magic of language 
 

1p 12 What is the main point made about humans in paragraphs 1-2? 
A They are capable of creating an endless array of syntactic sequences. 
B They are clearly predisposed to communicating with their fellow 

beings. 
C They fail to make optimal use of the many faculties their brains offer. 
D They need a lifetime to map out the general rules that govern speech. 
E They seem to grasp most grammar rules without any formal 

instruction. 
 

1p 13 Which of the following fits the gap in paragraph 4? 
A Consequently 
B Meanwhile 
C Obviously 
D Paradoxically 
 
‘This ‘recursive’ structure is key to syntax.’ (paragraph 4) 

1p 14 Which of the following describes the capacity for ‘recursive’ structure? 
A contextually attributing a new meaning to words 
B mentally reordering and merging words into bigger units 
C methodically repeating words in order to memorise them 
D strategically separating words like beads on a string 
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1p 15 What is the main point made in paragraph 5? 
A Children learn the intricate rules that govern linguistic expression from 

exposure to the language used around them. 
B Language mastery without any spoken input becomes quite a complex 

process. 
C People with a hearing impairment from birth are hardwired to develop 

grammarless means of communication. 
D The human brain seems to contain inborn knowledge of various 

linguistic principles. 
 
‘A more controversial claim’ (paragraph 6) 

1p 16 What has undermined support for this claim? 
A The data gathered to corroborate it turned out to be flawed and 

incomplete. 
B The eagerness with which it was postulated has had an adverse 

effect. 
C The only support that can be found for it are elements that are lacking. 
D The research methods that have been used to prove it are quite 

inadequate. 
 
‘Mr Adger’s tour of linguistics is entertaining and accessible’ (alinea 7) 

1p 17 Heeft de schrijver van deze recensie al in een eerdere alinea een oordeel 
over de stijl van het boek gegeven? 
Zo nee, antwoord ‘Nee’. Zo ja, noteer het nummer van de alinea waarin 
dit gebeurt. 
 
 

Tekst 7  Fake News? How about no news? 
 
‘What do you call it when …’ (alinea 1) 

1p 18 Geef aan of de volgende citaten verwijzen naar het proces dat in alinea 1 
wordt beschreven. 
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 ‘an extinction-level event’ (alinea 2) 
2 ‘the decimation of local news’ (alinea 2) 
 
‘The far-reaching effects are cataclysmic’ (alinea 2) 

1p 19 In welke zin verderop in de tekst wordt voor het eerst genoemd om welke 
gevolgen het gaat? 
Citeer de eerste twee woorden van deze zin. 
 

1p 20 What is the goal of paragraph 4? 
A to confirm that local news outlets lack financial support 
B to highlight the scope of local news coverage 
C to make clear why local newspapers get shut down 
D to show how politics and local papers tend to interact 
 


